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#OH $500[=OfE $10,000
£0= $500[EOFE $1,000
oy et g =l (RN $8,000|E OtF $1,000
HOE $1,000{EOFF $1,000
= OfE $100,000[= O T $5,000
BORE $1,000{HOFAE $240
HOE $1,000)FEOF $600
O $400|E=OE %= $1,200
208 $100[FROTF $600
£ZO%E $100[BEO=E $1,000
207 $500| FOE $1,000
O $400| £ O 4 $1,000
BROTE $1.000{#5ORE $1,000
i OFA $10,000{t5ORE $1,000
O $1.200(t5ORE $1,000
HORE#D $2,115|¥OF $100
PHOZE $1.200{¥OF $200
BOF $1,000| =05+ $1,860
BROLT $600[= O $1,200
SO $200[ = O $1,200
FOPE $1.200{5RO#% $1,200
T O $100|E=OFE $1,200
=OFH $2,000|1#E O $1,200
BROFE $1,200) B Ol $600
O $1,000[FR O $600
PBROZE $1,200{FEOTE $600
O $3,000)F O 5. $600
=0% T $100|Fs O%E $600
= O $400| = Ok $1,200
BIOF $500[#OFH $1,200
g OfEER $250[ AR O $800
BOkE $1,500[ O $800
O $1,500[ O $800
FOBK $3,000|#EO17 $240
FOXE $3.00047O H $240
FOF $1,000[#Of& $240
MHOZ= $1,000|1#Ot& $240
RO $1,000)1220= $900
sTOFE $1,200{HO % $900
O $1.000{ZEO% $900
KROZE $1,000{Z£OR $900
H Ok $100[3O4= $660
BROF $100[FOZK $660
BROE $1.000|88 O $680
PREhECE $20,000|8EOE $500
BROH] $1.200|8E O E $500
FORE $100[52O%E $600
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FOME $100[BROE $600
BROfE $600[HO%% $600
#FOZE $1,200)5=O%8 $1,000
HO# $1,200) 5 OFE $10,000
PROF & $600|F O $2,000
#HOT $100[F O $200
BO£ $1,200)F O $300
FOEF ] $1,200[# O $200
Otk $100[F O $300
FRO3 $1.200)FOF $200
RO $1.000)FOF $300
BHOEE $500]2F O iBUH! $1,200
BEEOF 1k $1,200|ZFO%Hii $1,200
ROk $300[ZF O $1,200
F0O% $1,200|ZFOfE $1,200
HOZE $1,200{ZF O $1,200
HOFIE $100[EOFE $1.000
=O $1.200[E O $1,000
SOk $500[E OFE $1.000
HOX $500| EOH $100
O $1,200[ O $100
AEOE $500[ZFOFE $1,000
PROZE $100[7ROK $1,000
g OB $100|ZFO&A $1,200
HOR $100| E Ot $1,000
PROIE $100[ FO% $1,000
i OF $100[F=OF $1,000
BROZR $200|#O /& $10,000
HOFET $200[FOF $600
HOL $200[FOF $600
HOH $200[ = O5kA $100
HOE $200[ = O5A $200
F O $100[ZFOF $1,200
PROSE $100[FEO $20,000
POt $100| L MhFodEtt $20,000
E=OX $100|FE#EAD RS $100,000
OB $100[frOF $1,000
MO $3,000[E Ot #E $500
BROXEG $200 BB O $500
AEOFEH $500[FR O1& $1,000
fitt O 1 $100|1 =0+ $100
fitt O>L $100[Z O $250
LO= $100[EEOK $2,000
O $100|5#O /& et $500
g O $100[ EO#H $100
B O/ $100[BR O $1,000
2OZ $100[E= OPF $200
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FOZ $100[EOZ $500
BRO®& $100[BROBh $100
s O $100[ 52O $500
s Offi $100[FEIE18F $1,000
sTOfE $100| 8 EHEUPEFAZE AR E] $8.000
s O $500(21 O $2,000
s O $500 | F O4HS $1,200
s O $500|&£O EERIZ $600
BRO$ $100[Z£EOF5 $500
210t $100| O $600
BROZ $100[BRO I $600
MO $100] = O $600
HOMR $100[EXO%H $600
#Ola $100| = O54 $600
O $100[FIOF5 $600
ZOE $100|2IOF $1,000
EOMF $100|2 O $1,000
BROZE $100[&r O $600
=0% T $300[BROZE $600
FOF $100[FROZ= $600
g O $2,000)|BR O3 $600
=0O%B+ $100|#O== $600
BHOSL $1,500) R O%E $600
BROF $100[BR O $600
H OB $600| RO $600
O $100| RO $600
PROEE $100|AROHi $600
RO $100[ 2O $500
T O $100[FE O $600
PRORE $100[BROME $600
RO $100]BRO TAE $600
s O $100[FEOHK $600
RO $100[FR OB $600
ErOHE $100[E Ok $100
sTO = $100| B O~ $100
irOF $100[#5OHF $200
MHOIE $20,000(58 O $600
i OFk $600|BE OB $600
HOzE $100[BBO =4 $600
O $100|BEO% $600
EZOX $100[EF OAZK $600
BROEE $200| 5t Ot $1,200
RO $200[ = OF% $200
PROZE $100| 8 O $1,200
BROE $100) 8 O%F $1,200
HOE $200|E=OH $1,000
HOWS $100[HORE $20,968
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ORI $600PTOE £ $200
MHO& $600[ZBORE $100
O $100[ZBOR $100
PROAL $600[FOT $100
OB $5.000)F Ok $100
BOZE $100|PROZE $1,200
O $2.,600(FO =/ $100
BOH $400|E= O $400
POH $400[#EOE $100
RO $400[BROH $500
£Z0/% $400[H O $1,000
£ZOH $400[FR O $1,000
FOZE $400 [ O $500
A O $400| % OB 5 $100
BO% $400|H OB $100
Z0= $400|BEOIE $100
MO $1,200fit O $100
FOZE $1,200{BROEE $200
FOZE $400[EBOFE T $200
BEOjw $500[EFOL $200
RO $1,200|1ZFO 1 $200
fTOBE $400[F O $200
B OFH $1,200[ FOE $100
O $1,200{FO4 $100
O $1.200[ZF O = $100
A O $400[PRO S $100
FOFE $400| PO $100
ZOF $1,200)E 0O $100
FO& $1,200|E=ORE $100
O $1.200(#R O $3,000
BRORE $1,200[FRO & $200
RO $1.200);E O $500
sTOF $400[HEOTE $100
HO{ $5.000] 1 O=L $100
LOZE $5.000)4&2 O $100
BEO% $1,000{50CO %) $100
TOXE $600[ & O $100
T O## $400[ 2 OB $100
PO $2,00018 O£k $100
RO Tt $300[HOZ% $100
A OFE $1.000)B OF& $100
BROFE $500[=O#h $100
HOWEIE $100[ET O $100
O $1.000[FFOfE $100
MO $200[#IOf% $100
TOAIED $500|BROZ $100
RO $100[#RO % $100
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=OWEF $500[EROJEL $1,200
HOE $1,200{#F O3 $100
750 $200[EFO & $100
O $200|EFO=E $100
EOM $100|EF O~ $100
=0 $500|EF O 5 $100
BOE $100| ] O3 $100
RO B $100|21OFE $200
#O $1,000[ & O $600
FOH $500 EO#IHD) $500
#O® $200] 3 OFk $1,000
O $100[ EO™ $100
TOZEE $1,000[ EO% $100
ZOE $300|EF O $100
PROF] $100[#ROIE $100
ROF $100] T OH $600
FKO¥L $100|#kO 8 $1,000
KOTE $100| & OB $500
#O% $100| %O E $100
EOX $100|EHO %% $1,200
EAOL $300|EOE $200
POF $100| RO $200
POE $100|BROE $100
PO $100| P O#= $100
RO® $100[#ROE $200
TROZ $100[EFOS $100
PR O4F $100[FE O $600
O $200{=2O $1,100
PR OZD $700|FHOE $500
SOR: $200[ EO% $1,000
=HOFE $2,000| AR IS EE $4,000
EEO] $200| B {E (£ $500
ZIO& $500|fE OfFE $1,500
FOE $200|#£OEL $1,500
@ $500| 2 OFR $100
ZEORk $1,000[ T O $600
HEOHE $200| T Ot $400
Z0O[- $200)7&O T e $300
EOH $1,200{#OFE $1,000
=ONE $1,200|fHOFZE $500
SO $1,200|F O§F45 $100
RO $1,200|1#A O $200
BAOR $1,200|FHOEE $100
FOHEL $1,200| = O $500
EOEE $1,200[ 50 $200
EOH® $1,200[FBOH $200
FO%Y $600[FEOZ $100
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HEOHE $2.400[FRO%k $1,000
RO $1,200[#LOH $100
ROH $1,200|F O $300
HO=E $1.200(#ROF( $100
FOX $1.200{RKO¥% $100
FOMH $1.200{K O $100
O $1.200| R OF $100
BHOHE $1,200|#k O $100
TOE $1,200{EOL $100
TO&H $1.200)#kOF* $100
FROE $1,200)#k O $100
ROE $1,200)#kO4n $100
=0% T $100[52 O $100
BPOFAL $1,200)5=O% $100
FOZEM $1,200) B O%F $100
HOF $1,200) 8 OH $200
HOH $1,200)ZF Offf $300
FHOF $1,200 | ¥ EE EUPEBH 2 A TR/ ] $8,000
FOME $1.200PTOFE £ $200
PROAH $1.200[EOf $100
GO $1,200 (PR 40 $30,000
BROSL $1.2001Z20O $2,000
BROHL $1,200|#IOF $200
BROFT $1,200[FIOFEx $200
BROH $1,200|121OJ= $200
BIOZR $200| 21O $200
BRORESE $2.400[Z1OE $200
£Z0= $1.200[FE O/ $200
BO% $1,200{ 21O $200
EROZE $200[FEOHE $200
PRO= $200|FEOH $200
RO $200[FEOfZ $200
HOK $1.200[{FFOE $200
POLEE $1,200|121O% $200
RO $500[EE O/ $179.330
BHOM $1,200|F O $200
HOE $1,200[E O #S $500
FEOM $100|BEOtE $1,000
g OH $1,200|=0L1 $400
O $1,200|2 O $1,000
FOi $1,200)5=OHE $5,000
EOTE $1.200|RO% $900
ZOR, $1,200|EE O $2,000
FOBFL $200[ F=O* $1,000
HOFIL $1.000| RO % $1,000
HOZE $1.200{EOFE $100
H=OR $1,200[FF O $100
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PR O $1,200{ft O $1,000
RO $1.200|=0O%F $100
O $1,200[ O $250
BmO% $1,200|EROGEI $300
MO $1,200| HOH $300
MO $1,200|HO%= $300
Ok $1,200(§O /& &k $500
TOME $1,200|FE O $1,000
FHO#2 $1,200/ 20 & $6,000
Z0 $1,200250OF $500
MO $1,200{5E Ok $1,000
fHOAE $1,200[HOKE $480
RO $1,200[F O $2,220
BOX $1,200(H O%L $600
HROJ $1,000s#H O F% $600
HOK $1,200[H O $1,600
EOR $3,000{HO $1,400
%20 $1,100[#5O % $1,400
HOE $S00|FHOE $1,400
RO $1,000{EOFE $1,400
HEOE $600| 2O $1,400
OB $600| £ O] $1,000
5RO $600[FEONX $1,400
A A $1,200{H O $500
ER O $1,200| & OB B $100
BROME $1,200|B O $100
=OH $600[BHOIE $100
=OH $600 [ OF $100
HEOM $600[BHOZE $200
HEOM $600|EFOZETF $200
ZOHE $1,000[EF O $200
OB $500|E3O H1 $200
I@E: $1,000[EF O $200
RO $4,000| EO $100
EOR $100[EO4% $100
=HOMK $300[fROFE $1,000
PRIEFpFCEL $20,000| B O %k $1,000
RIS AR AHE $8,000|FROZ& $200
RO $1,000|ZEO%i = $100
FEO AR $1,000|FRO St $100
EROMES $500|1#R Ot $100
BROME $1,000{&= O3 $100
—0O%+ $100| = OJE $100
HOE $1,000|FROE & $200
2OFF $700; O $500
o ONR $250[ i OTE $100
BOZ $1,200[jifE O3 $100
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O $1,200{4C O= $100
HOE $1,200{50O %) $100
HOZ $1,200( % O $100
RO $1,000( % O $100
#O g L $500[ 2 OF $100
ROEE $1.000[FEOZ% $100
AOT $200[FROFE $100
T AE BB 3 A TRV E] $30,000| 5 O$#, $100
FO% $1,000[5F O $100
BOHE $200[5F O $100
AEOE $500 i O Fs A% $1,200
EAOLEES $100[B1Of $100
ZOR $100[BROZ $100
BROIE $100[#RO $100
fiti OF $100[HO & $200
BROZR $200[FEORI $200
HOLL $1,200); O $200
HOFET $200[ EO& $100
HOL $200| EOH $100
HO $200[EF O $100
HOE $200[H= O] $1,000
ROE $1.200|1#kO%E $100
SOt $600)|=OE $100
RO $1,000[FEOEE $200
BROME $1,000)B O $200
BROZE $200[FROZFE $100
ZF O $100[fR O $100
BROSE $100[# O $200
POt $100[E O $100
E=OX $100 i O TF $1,200
s O $100[£5OFE $200
BROXEG $200[ 52 Offg $600
HEOFEH $500(fit OmS=2 $500
i OTE $100[ 52O $1,000
fitt O>L $100[52 Ot $400
LO= $100[=OF4 $400
O $100[z= O $600
g O $100| EOFE $200
O $100[%O1E $50,000
gOE $100) 5= OEh $100
HEOZ $100|FF Ot $100
BRO® $100[ZOR $100
=08 $100|HOL= $5,000
s Offi $100PTOZE $5.000
sTOfE $100|&£O EERIZ $600
RO $1,000)ZOF $100
2O $100[5O= $100
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BROZZ $100[F Otk $100
PO $100[3EOF $100
AHEOE $200[BIOF $1,000
FEORM $200|FPO $100
AEOH $200[#O%E $100
BOIlE $1.200|tR O $1,000
BOM & $1,200)| O $50
FOXE $100| FOZFHE $2,400
EAON| $1,000{ O $1,200
BRORL $6.000| & Ofk $5.000
MO $100|= O $600
EZOX $100[=OE $600
SO $400[ EOLR $600
BROE $200[EFO4E $1,200
RO $200[EEOF $1,000
BROE $100[#%OF; $200
BRO#E $100[#O% $200
FOM $400 [ FE ik $10,000
HOE $200|FERIA $10,000
HOWS $100 [ FE i $10,000
w=OH $600| % O% $300
BOM $2,000) % OHE $300
=0% T $5,700]% O% $300
= O $10,000[ & O1H $300
= OF $2,000[ &4 O%¢ $300
HOJg $1,200|% O $300
TOZ $1,200) 8 Ottt $300
JiOH $600|ZF O $300
BO%X $1,200) O $300
BOHE $600[E O $300
SBO%K $600[EO£E $300
BOE $600[HOZE $300
HOH $1,000) %Ot $300
H=O/H $5.000) kO $300
FOIE $1,200|#k O $300
HOHE $1,200|= Ot $300
O TAL $2,000)EO7 $300
BO# $20,000) 5= OB $300
BOHE $10,000{#O 75 $300
TOF $2,000|ELO4T $300
HOFEE $1,200)% OL $300
H O $1,200{1OF5 $400
FHOHE $100|5=0% $2,320
1 OBl $1,200)BECOBH $500
MO $1,000|1#+OZ $500
FR OB $1,200(5# OFE $1,000
HOE $1,000] T OZ% $600
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2OF $1,400 T O$4 $400
=HOM $1,200| 21Ok $200
BOE $1,200(38 O e $300
BEOLL $1,200{#OFE $1,000
O $1,200|fHOF3E $500
FOH $100[FH O 45 $100
BORE $1,000|1#AO= $200
TROBH $1,200| FO#AEHD) $500
TROBH $1,200| = O $500
=0O%F $1,200{ 50 $200
FOX $600|#F O I $200
PO $1,200{& O $500
FO#E $1,200[RO4F $600
=O8EE $600|EOZ $100
OB $1,200[ O %k $1,000
RO%RE $1,200 3O $100
RO $1,200|20OF $300
BOH $1,200|1 R O] $100
EOM $200| RO%t $100
F (@) $200{ KO $100
BOE $600[ kO $150,000
ZORY $1,200|FKO5E $100
BEOTF $1.200[ EO# $75
RO $600[ EO $75
EO# $5,000| £ O*% $75
FOT $100[EPOE $75
EOH $200[HkOZ $100
EOR $200| EOL $100
O Lk $1,200[HkOF $100
BORE $600[HKOFE $100
BOE $600[#kOAN $100
E@) 7 $1,200| 20O $100
FOFk $100)5RO% $100
=OJE, $600| RO $100
FO% $600[5=O $1,100
OE $1,200[#OE $500
= O $600|Z1O18f $1,000
=OE $500| & O $200
LO%E $1,200({Z= O $300
SOZEMH $1,000/E2OFR $100
TROZER, $1,200) TOE® $200
EOZ $5,000 A BB BES A IR A $8,000
2O $500[ R OF# $10,000
O $1,000{ZPOHE $100
HO $160| O $100
HOEE $160[EFOT $100
%O $160|Z Ok $100
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RO T $1,200[ O $100
OS2 $2,000| EOZ $500
O $2,000|E= O $500
BEO5% $2,000| /=54 FAk $10,000
RO $2,000) B O % $100
FHOFIE $100[EROIE $100
A O $500 (R O $200
LOBE $1.200|EOFT $200
TOH $1,200|EFO L $200
HOBH $180[EFOH1 $200
RO $600[EF O $200
£0% $600[t5 O} $400
ZOH $160[5OEH $400
HO $1.200[EOZKEH $600
E=O5h $1.000[ZF O = $100
FHOT $600[FRO S $100
BOin $2,000[# O $3.000
SOt $1.200)f O FE $200
FOH $1,200|#H O% $600
TLOM $1,200]H Oli% $600
£08E $200[ = OBt $600
£ZO%E $200|ZFOFd $600
= O5A $100[BROF $600
=20 $1.200|BR O $600
HOE $5,000|{z=O%E $600
BOZ= $2,000) & O%#, $700
RO8B $1.200[z=0O# $700
HEOME $1,200|=0E $700
#HORE $180[FRO#h $100
= OBk $500[FIOf% $100
TO#EE $2,000)BE O $100
FOW $6,000|BO#HE $1,000
BROBS $5,000[ FOE $1,000
BROIS $500| EO% $1.000
RO $500[BROfE $600
BOE $500[EBO $100
) $500[FOfa $100
EOt& $600|HFOZE $100
TOEE $200|FFO1= $100
BEOH $500[EF O $100
EOT $5,000[FE O $100
O $3.000[# O $400
FORMH $600 R OF5 < $600
2Z0F $500[fT OB $100
BOx $1,000[5R O $400
PROR $2.315|25 Ok $400
O $400[ZEOkE $400
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O $400|FF O $400
EOZHL $6.000| i O $400
FIOEK $200[t O $400
HROF $1,200|20= $400
=OZ= $1,200)BEE OBk $600
O $100|FOFtig $600
ZOF $1,000| B O= $600
EHO#ED $500|BROF* $100
= O HD $1,000)x O $100
TOAIED $500[FR O£ $100
RO $1,000]BR O $100
AROMH $1,000{ O $100
T O $300[FROJE $100
SO $500[FR Ot $100
MO $1,000|5FO%% $100
=0 $500[BRO=E $100
%0 $1,100|5F O $100
HOTE $500[EFO f, $100
BROF $200[5TOZE $100
PEESFHAERE $20,000)| =0 & $100
BROE $600[ETOESE $400
FO#HL $600[FROEE $200
PROZE $600[ O $200
BROZZ $600[fRO=E $100
POt $1.200(FRO#F $100
FOM $1,200| £ Ot $1,000
BHOE $800[ O $1,000
B O $500[F£OF $1,000
RO fi $400[FEOHR $400
ROF $400| EOFH $400
RO $400[# O $200
TO= $400[5ROF $600
O $800[E OIS $100
EXO) $800[5F O $400
BO== $1.200{ Pk OfE $1,200
PROH $1,200|5F O EL $20,000
HOLE $600]| &£ O <2:Fd $1,200
H O $600[FEO $1,200
O $1.200[EHOF $600
g O] $1,200{F£O* $600
st O $1.200[ZEOP[H& $1,200
= OB $600|F ORE $400
BROFT $1,200[/R O $1,200
FORd $600|ZFO¥f $800
BROF $600[ O $400
BROE $600[FROFE $400
BIOF $1,200) B OFd $400
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FEOTR $1,200[ & O $600
£05 $1,200{#OF5 $600
=OE $1,200({f O ZE £, $1,200
=HOS $1,200{f9 OFE $1,200
= ORAT $1.200[FO $6,000
E=OR $600[HFEO H $600
AROFH $1,200|5ROE $400
RO $1,200) POk $400
L O $1,200{7=OH $600
FEOFX $1,200|1 kO $600
ZOK $1,200{#AO= $600
FRO®E $1,200{ RO $600
RO $1,200| PO $600
BIOPATE $1.200[=0O T $600
FROZ $1,200)EO5A $600
BROBE $600[E= Ok $600
AEO4N $1.200{EOW $600
£OE $1.200|E=0Ox $600
ZOHE $1,200)BEOF $600
HORE $1,200]BROJa $600
FOFE $600[2IO & $600
ROE $600[FOZ& $400
MO $1,200|F O $400
E O $1.200[z= O $600
HO4 $1,200|F O $200
BOE $1,200|1220F5 $500
BIOH $1,200[E Ot #E $500
21O $1,200| =05+ $100
20 $1,200) &= O $400
ZO&E $1,200{% Of% $250
RO $1,200)E=OK $5.000
O $1.200[EEOF $2,000
ROFE $600 | O e et $500
EEOM $100[BR O $1,000
#HORE $500[EOZ $500
HOZE $2,000[Z=ORd $100
FHOH $1,200) 1 O3H $1,000
FHOH $10,000{#EOEY $600
HOLC $1,200 | O F 4] $600
O $1,200| s O=F5E $600
O $10,000| & O $600
fLO $1.200(EF O $600
HOB $1.200{gFOE $600
HOH $1,200{FE O $600
FIOH $1,200{ F Ol $600
HOE $1.200| EOFR«L $600
210OHE $1,200{FEO# $600
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2NOH $1,200{ FOZ $600
OB $1,200[FO%% $600
HEOE $1,200[FEOF $600
2O $1,500| 2= O] $600
#ROZF $1,200[FEO# $600
Ex O $1,200{ EO4f $600
O $1,200|BEO & $50,000
205 $1,200(EOF $5,000
FHOU $1,200{prO%% $1,000
PROE $1,200|&£ O FREIZR $600
=HOE $1,200{210OF5 $400
TOTt $1,200[48O $100
O] $600|21OF $1,000
BEOE $1,200[FE Ok $1,000
7 O] $600|tR O~ $1,000
FOZFE $600|EFO % $500
O $600|BE O $500
#OE $600| PR OJF $750
HO&E% $1,200| B O 7% $1,000
%0 $1,200( FE Ok $750
O $600| RO % $750
ZF O $1,200[BROZ $750
FOME $600E Ok $600
ER@)i: $600[KOFEE $600
TOBL $600[ O $600
F+O# $600|EF Offs $1,000
FOZ $600| 2O & $1,000
=HOM $600[HLOHk $20,000
FOF $600| E O $2,320
O] $600|FBOHk $10,000
FO8E $600[ 5= OAl $10,000
FO%i $600[EE Oz $1,000
#HO $1,200| 21Ok $200
HOF $1,200| O $500
i O%E $1,200|5x O % $300
BAOR $1,200[= O $500
BHOE $1,200|-FORE $115
BO% $1,200|#5O%E $100
21O $1,200[ O $50
HOZ $1,200| %20 $1,100
20% $1,200[#OE $500
Ex O $1,200| = OFk $200
HOE $1,200|EHO%E $50
SORM $1,200{# O/l $5,000
EHOFH $1,200[FRO $5,000
BROF $1,200[FO% $1,200
B ORA $1,200[F2 O $100
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g O3 $1,200]#H OFH $1,200
BROZE $1,200|=0= $50,000
FHOT] $1.200)¥O%p $5,000
BOE $1,200[E O #S $500
BOE $5,000| B O $300
ROFEHE $1.200| B2 O $2,000
ZFOtiE $1,200[#O ke et $500
Z0 $1,200 ¥ EE EUPEBH 2 A TR /N ] $8,000
FOHIE $1,200{%= O $500
RO $1,200|12O1= $200
#ROMH $1,200|&F O BRI 5 $600
B O $1.200|22OF $500
BEOX $1,200)BECOBH $1,000
HOF $1,200) T O $600
iTOZE $1,200) T O%# $400
sTOfH $1,200[FR O $500
KOH $1.200{ZIOF $1,000
O $1,200)7#% O Tt $300
=OMF $1.200(#F OF& $1,000
HOLC $1,200[FH OFF4F $100
RO%E $1,200[=O%E $100
SOl $1,200[# O $200
SO $1,200) 5Ok $1,000
s OREMH $1,200|=O#F $500
e Off $1.200[ZFO% $100
=OH $1,200150 $200
PROZE $1,200|#8OLEE $200
O $1. 200102 $100
£07t $1.200[ZFOfE $100
#rOHi $1.200[FRO%k $1,000
=O%E $1,200[#LOH $100
BAO%m $1,200|F O $300
RO% $1.200(#ROF( $100
HOA $1.200{RKO¥% $100
HOKL $1,200) KO8 $100
MOA $1.200| R OF $100
HOZ $1,200|#k O $100
s O $1,200{EO>L $100
TOF $1.200|#kOF* $100
20= $1,200|#k O $100
12 Ol $1,200)#kO40 $100
HOPR $1,200| 2O $100
=OH $1,200)5O% $100
SOt $1,200|FRO4E $100
A OF $1,200)| O $100
IO $1.200(EEOI $600
BRO{ $1,200) &0 $600
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#®OE $1,200|BHO % $600
RO $1,200{ 1O $600
ROS $1.200|BR O $1,000
BRO& $1,200) 8 OH $200
MO $1,200)ZF Offfl $300
BROME $1.200[ZORd $100
PROZ $1.200[EO%E $400
FOE $1,200|F O4F $400
BROE $1,200|FL O $400
TOFH $1,200|FP O $400
BROIE)G $1,200) % Ol $2,000
O $1,200 | st (&5 $1,200
FEOH $1,200| 2 $1,200
FOE $1.200 L ZE $1,200
st Ol $1,200|PEEZAN $1,200
HOE $1.200| =5 $1,200
MO $1,200|{BR Ol $2,000
FEO $1,200{ =06+ $100
A O $1,200|=0L0 $400
BROH $1,200)% O $250
BOWRE $1,200) 52 O $1,000
T O $1,200)122 02 $1,200
BO#H $1,200) & O $3,000
BOK $1.200| £OF $1,000
BEOE $1,200| RO % $1,000
ROX $1,500) O $1,000
I O== $1.500[HO%E $700
IO/ $1,200( % OHF3E $100
=07 $1.200|BOE $100
210 $1.200{FEOTE $100
210 $1,200fit O $100
EAGLA $1,200{FROEE $200
FOH $60,000|EFOFF $200
OFE $1,200|1EFO=L $200
O $2,500|ZFO 1 $200
FOZ $2,500|1Z Ot $200
O $3.000) B O = $1,000
ORI $3.,000) B O3 $1,000
HOH $1,200[FF Oz $200
FZOZ> $1.200[ZF O = $100
FOH $1.200[FR OS5t $100
ZOfR $1,200{ kO $200
INNS=E2 R G i $6,000|EO=L $200
fugs (b EARAE $10,000[E=O¥E $200
BOHED $3,600[FEO & $200
PROZE $100[HO==82 $1,000
HOH $1,000] % O $100
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=05 $1,000)1i O=L $100
Z#0O $1,200{4C O= $100
=OE $1,200{50CO %) $100
2O $5.000) % Of# $100
Oz $1,000( % O $100
10O $1,200|8 OF $100
HOFE $1.000[FEOZ% $200
B OxE $3.000)B OF& $200
BRO H4&l $1,200) 5 O%#, $200
ZOREH $1.200[EF O fif $100
=05 $1.000[FFOfE $100
BRO$ $100[B1Of $100
HO $1,200| B O $100
HOECER) $100[# O $200
M OEFET) $500[HO & $200
BORE $1,000{FE ORI $200
OB $1,200);E O $200
BROZE $100|EFCOEE $100
BOR $1,200)FE O] $1,000
BOIE $1.200|1FO%E $200
OB $1,200|%20O & $100
BOBE $1,200{FROEE $200
frOT $1,200)F O $200
FEORR $1,200[FEOE $100
2O $1,200[FRO#F $100
=0% T $100[# O $200
FOMT $1,200|ZF O $100
BHOZE $1.200|FO& $1,000
i OF $1.200(#O % $50,000
=OA6 $1,200|FO%z $1,000
SON $1.200[HEO#F $2,000
FHOXE $1,200|ZF O $200
w= Ol $400[FOfa $200
RO $1,200|EFO%E $200
BO $1,000|EBOf= $200
s OB $1,200|Z O $200
BROF $100ta O $200
FOH $1,200{Z1OF5 $500
O $100[3EO= $100
PROEE $100[EBOZE $200
BROBE $100[fR O %= $200
T O $100[5= Ok $200
BROkE $100[ 2O $500
RO $100[#O%E $100
s O $100[#FO I $500
BROZ $100| L MhFodEt $20,000
ErOHE $100[#5 Otk $1,200




MEEANSETRAIDFEHEENESE

OEERREUS
241 i E S X it i L
s O i $100|PECOAR $1,200
sTOZE $100[ER O $1,200
£Z0% $600[H O~ $5,000
BOE $1,.800TOZ= $5.000
ROF $1.800)BECOBH $1,000
HOFE $1.000[H OFE#O $2,320
RO T $1.200{ T O% $600
BOR $1,200) T O%# $400
MHOE $1,500{ZIOEE $200
POt $1,500[FROYE $500
+O% $1,200)7#% O Tt $300
RIOHZ $1.200(#F OF& $1,000
MHO%E $1,200[#H OFF4F $100
MHOHE $1,200[=O%E $100
EO% $1,200[# O $200
FORL $1,200| EOAHD $500
O $1.200[FR O $100
FOHEE $1,200|E=O#F $500
#EO $1.200[ZFO% $100
#O g L $5001750 $200
LOZEH $300[#BOHE $200
LOZEH $300= O35 $500
LOZEH $600[EEOZ $100
PRO= $1.000[ZFOfE $100
21O $2.000[FRO%k $1,000
SOk $500[HEOH $100
HOX $500[F O $300
=505k $100[FFOF( $100
HOW $5.000{RO%% $100
RO $2,000{ZR O $100
RO $300| ROFE $100
=i fiESC $20,000[#k O $100
i $20,000{+=O3Z $100
=OT $500[#ROF* $100
RO $1,200|#k O $100
O $100[#k O« $100
#Ola $100[52 O $100
O $100[7RO=2 $100
HOL $100|F O%H $100
O $100|%20O $1,100
FOH $100[FHOE $500
s OF] $1.200[5O%= $1,000
s OBk $1.200[{ 5 O4t $1,000
PO TR $1,000] O $1,000
BIOR $500| A Ok $1,000
=OH $1,500H Ot $1,000
Rk $1.200{5 O $1,000
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THEE $1,200{E= O $200
FEH $1,200) 8 OH $200
Jit €7 % $1,200) 52O 8t $500
RELE $1,200)ZF Offfl $300
REIE $1.200| PO & $500
e $1,200)5=O% $100
BRA $1.200PRO%E $100
e $1.200[EO= $2,000
RE $1,200| PO $3,000
PROHESE $1,200|122OF% $200
R $10,000[EE O $300
HEEZELCH $753,155[8#8 0 e L $500
ERORE $1.200|BR O $1,000
Oz $1,200| 21O $1,000
@) $1.,200(Z & & $1,200
BO53 $1.200 | i €1 5% $1,200
IO $1.200| & ¥ $1,200
=0 $1.200| & $1,200
O $1.200|1F &5 $1,200
O $1,200| PR F= B $1,200
w0 $1,200 | it & $1,200
£0O¥% $10,000[ 5= &7 5% $1,200
ROt $1,200)&£OFK $1,200
Ok $1.200{FEOF $1,200
EOEE $30,000[BEO % $1,200
FEOL $1,200[5R O F $400
ZOZFEk $1.2000EO = $1,000
PO $1,2000EOE $1,000
BROE $1,200| Ok $600
F O $10,000|KOFEE $600
MO~ $1.200|F=OEL $600
BROH $1.200[ZFOFHE $10,000
FIO%E $1,200[FE O $1,000
HO2 $1,200) B O % $100
HOHk $1.2001#OH $1,200
BEOA $1.200{ZIOF $2,400
FROR $1,200) B O$#, $100
NOES $3,000{F Ok $1,200
SaEER AR E] $50,000{FE O $100
FHO#H $2,000[FEO” $300
HETEAT $1,000{Z1OE $300
L $1,000FEOH1 $300
fe JEBT $1.000FE=O% $300
f] L7~ o $1,000)BEEOF* $100
AHEOE $500[z= O $100
EAOLEES $100[FR O $100
ZOR $100[FR O $100
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PROIE $100[ OB $100
fiti OF $100[FROJE $100
BROZR $200[FR O $100
HOFET $200[EFOi% $100
HOL $200f O $100
HOH $200[5TO*E $100
HOE $200[EFO f, $100
RO $1.000[FFOE $100
BROME $1,000 | #A B EPEBH A PR /L H] $8.000
BROZE $200[fr O $1,000
PROFR $1,000| =05+ $100
ZF O % $100[E= O $400
BROSE $100[Z O $250
MO $100[7=O $2,400
E=OX $100|52O% $3,000
= ORE $100|FE Ok $20
PROEE $200[2£05 $1,200
AEOFEH $500|122OF $500
fiE OTE $100[BIOF $1.000
fitt O>L $100|EEOEE $2,500
LO= $100[ EO#H $50
O $100[FO%d $100
g O $100[BROH $100
O $100|B8 O $100
qOE $100|B8 O $300
HEOZ $100|B OB $100
BRO®& $100[BBOBE $300
=08 $100| B O $100
s Offi $100[BBO =4 $300
sTOf2 $100[BBO% $100
BROE $1,200| 5 O % $300
BROE $1.200[F OAZK $100
BOE $500/ 8 OAZK $300
MHOs2 $500[ZFO1 $200
MO $500[FO= $1,000
MO $500[ BB O $500
210t $100|EO%x $1,000
BROZ $100[B1OF5 $600
MO $100[BROH $500
SO $1,200|2 O $1,000
BEOZ $2,000)7=ORE $5.000
AHOE $200[57R Ok $1.000
ORI $200[=O % $300
HEOH $200[ =OF $125
BROET $400[£OH $125
ZOligg $400| EO¥ $125
BRO$ $400[EBOE $125
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FOT $2.400|1220%& $1,000
£Z0OE, $1,200|EF O $300
MO $1,200 75§ { SR A TR/ ] $1,000
g O $2,000) O $500
FLOZ $200[FRO1E $100
RO $200 R O $200
RO $200[EBOFE+- $200
HOE $100[EFOL $200
O $1,000{EFO o $200
MO $100[F O $200
BHOZE $300|2F O 5% $100
HOE $2,400|BRO St $100
CAOES $100| PO $100
BROE $200[E=OL $100
BRO= $200|E=ORE $100
BROE $100|BRO 05 $200
BRO#E $100[HO=F=82 $500
+Ox $500[FEOZ% $100
O $500[FROF $100
MO $200[=O#h $100
HOWS $100[FIOf% $100
E=OE $2,000)BE O $100
O $1,000) PO $100
MHO= $500|&£O EERAIZ $600
TS $30,000|1 85O % $500
IR R S A IR A H] $8,000[#HOE $100
ZO1 $200[ O $100
BROB $1,500| 2O & $100
FORMH $600[#O%E $100
2Z0F $500[FROEE $200
A OHFES $500[FR O $200
BEO% $1.000[FROZE $100
O $2,315|FRO#F $100
2IOF $800[# O3 $200
BIOF $1,000|Z OB $100
PROZE $2,000PTOH $500
MO $5.000|21OF& $600
EOK $2,500| 2O $600
RO $1,000)|2FO%K $600
F O $50[21O75 $600
O $1,000{Z=O%ii $600
ROZE $1,000|F O $600
=0%F $1.080[HEO#F $2,000
=0%F $10,000|{HO $1,000
TOE $200[/H OG0 $2,320
+O4 $200[# O $2,000
A O $500[FR O $1,000
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HEOHE $1.200[z=OFK $200
i Ok $1,200|BEO%E $600
= O $1,2005BO%k $600
HOE $1,200|5EO%E $600
TOC $1.200 [} O%4 $1,200
O $1.200(##O%F $1,000
E@ES $1.200 5O $5,000
OB $200p TOHE $1,200
TOF $200[##EO%k $1,200
+O $300| sl Ot $1,000
+O= $300[BBO#L Tk $1,000
AO= $1,200iti O 75 % $1,200
EA O $1.200[E O $1,000
=OE $1.200[E O $1,000
FETT $2.400[E O $1,000
HO{ $5,000[# O $3.000
TOZE $5,000|EO%E $5,000
BROTE $1.000[ O 5 $2,000
tROZE $600|F O $1,200
MHOE $600|#ORE $1,000
FOE $600|#ORE $1,000
HBOE $100[#mORE $1,000
PROAL $600[ZF Ot $15,000
RO $1.000|18OF $1,200
HOE $2,600[15OFE $600
FHOrtE $200[t5OFE $600
sTOSEE $1.200|1 O $600
=0T $1,200)O%k $2,500
FO"E $100|ZFO1T $1,000
FOME $100[EOFE $1,000
ROFE $1,200|E OtF $1,000
HOMR $100[EOFE $1,000
#Ola $100[#OR $1,200
O $100[ZI Ot $1,200
2O $100[#O $1,200
O $100|#RO 2 $1,200
=0% T $20,000|PF O $1,200
FOE $1,200| O $1,200
HEOER $2,000[ZE O $1,200
oo $2,000|#0O— $1,200
FOF $100[#OLE $1,200
#HOT $100[HO= $1,200
EOH $1.200|#0OF $1,200
Otk $100[tOF* $1,200
SO $3,000{F#EO5 $10,000
FOEIE $100[¥OH $5,000
#OH $9.000]#OH% $1,200
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BEO®ET $2,000[ZF Ok $1,200
MHO& $600[FEEOHL $2,500
TOXR $600|fH ORE $15,000
TOXR $600[ O $1,200
T O# $400[=O#h $100
T O## $400[= OFE $100
BIOZR $200|122 O $100
RO T $300|122OF $100
O $300|PEO $1,000
FEOAL $600[HEOL $1,200
A OF $1,000{#kOF $12,000
A OFE $1.000| kO $3,000
FROFE $500f O $1,000
PROFZE $500[ O $1,000
HOWEIE $100[FEOE $20,000
HOWEIE $100 [ FE ik $1,200
£ZOF% $300| 2= A $1,200
PO $200|{F BN $1,200
MO $200[##OHE $500
RO $100[BO%x $200
RO $100| EOAEHD $500
O $500[= O $500
O $500 B Ot $300
70 $200[F=O $1,100
50O $200[#FHOE $500
SO $200 [ O $3,000
SO $200[53 O $200
FEOM $100[BBOBE $200
BOZ $200[BBO =4 $200
RO $1,000| B O % $200
tRO#K $1,000[F OARZK $200
BOZ $100|PROE $20,000
FOH $500[BEOH $1,000
FOH $500[ T O% $600
O’ $200[ T Ot $400
HOHE $100[FR O $500
HOHE $100 7% O <7 $300
LOREE $1.000(#F OF& $1,000
LOZEEE $1,000[FH O#F4F $100
FOBE $300[m=O%E $100
FOBE $300[#FOF= $200
PROR] $100[f O $100
PROR] $100[z= O#F $500
KOZ $100|FOH $100
KOZ $100[ 50O $200
ROF $100[H O $200
ROF $100[OZ $100
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KOS $100|ZF O $100
RO $100[FRO%k $1,000
POZ $100[FLOH $100
WOZ $100[FOE $300
TOX $100[FFOF( $100
FOX $100|ARO% $100
FOK $300[AKOHIL $100
WOTF $100|ROFE $100
WOTF $100[#ROZ $100
WO $100| O $100
WO $100[#ROF* $100
HOA $100[#R O $100
HOAN $100[#k O $100
FO $100[ 52O $100
FO $100[7RO=2 $100
RO $100F O%H $100
RO $100[ & O1H $200
BRO&H $100[ZF O $300
BRO&H $100[5R O $100
#O g L $500[/RO% $100
%0 $1,100) B O % $100
HOTE $500| EOE $300
g O $200| EO4 $300
g OF $200| B O% $6,000
EEOM $100[FOHK $1,200
#HOHE $500[FRO#t $100
A O $25,000|E O $100
AEOE $500[FOfa $100
EAOLEES $100|HFOZE $100
HOR $100|FFO1= $100
BROIE $100[ER O $100
fiti OF $100[fROL $100
BROZR $200 (1] O3 $100
HOFET $200[BROF* $100
HOL $200[7= OF $100
HO $200[BR O $100
HOE $200 | O $100
SOt $600| £ O $100
F O $100[FROJE $100
BROSE $100[FR O $100
POt $100[EFOi% $100
w3 $100|fR O $100
s O $100[ETO*E $100
BROXEG $200[EFO f $100
AEOFEF $500[5TOZE $100
fi OTE $100| EOH $300
fitt O>L $100| EOH $300
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LO= $100[= O $1,200
O $100|FOZFE $10,000
GO $100[Ex O $1,200
O $100|=OH $10,000
2OZ S100[ZOEEE $1,000
FOZ $100| 8 EHEUPEFAZE AR E] $8.000
BRO®& $100PTOEE $200
s O $100[FROH $1,200
s Offi $100[#F O $1,200
sTOfE $100[br O $1,000
RO $1,000)E=OLL $400
2IO& $100[ O $250
PROZ $100[Z£O% $1,000
MO $100[fFOHIL $1,000
ENOES N $3,000|FOLE $1,000
HOEE $100|FEOfF $1,000
MO $100]$# O /& et $500
EZOX $100| EO33 $50
SO $400[fE O $1,000
BROE $200[FO= $1,000
RO $200|FFOEE $200
BROE $100[EB O $500
BRO#E $100| =05+ $100
FOM $400[EEO K $2,500
O $500[ F=OH $1,000
O $500[ARO%E $1,000
MO $200[HO % $300
HOWS $100[EEOE $500
=HOH $600[EFOHR $500
£Z05T $1,000 75 $2 AR A TR/ ] $500
FORMH $600[ERO1E $100
2Z0F $500[BROZE $200
=0% T $100[EBOFE T $200
2IOF $600[EFOSL $200
4 O, $250|EF O $200
FHOEE $100[EF O $200
OB $5.000) 5Ot $2.400
RO $1,000) B O $600
E O3 $50|BRO % $600
RO $1,000[FF Oz $200
(BRI AR ] $1,680|F O F= $100
g O% $600[FRO S $100
g ORE $600|BRO 05 $200
g O¥ $600[ 2O $2,000
g O $600[B1Of% $100
g O $600[BROZ $100
gOE! $600[FO# $200
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g Ofgt $600 (38 O#F $2,000
SO/ $600[{HO & $200
w=OF $600[H=OFI $200
HO $600|;E O $200
FOH: $600| 2O $1,000
POz $600|FE O $1,000
SOt $600| PO & $2,000
MHON $600|=OE $100
PO $600[52O#h $800
w=OfE: $600[FROEE $200
w0/ $600[ O $200
s O $600[fRO=E $100
O $600[BRO#E $100
HOEL $600[ 2 O4 $800
EOX $600[# O $200
PO $4,000|Z OB $100
BIOF $1.000[z=OH $1,200
RO $250|FO%d $100
BO%E $100[FRO%E $300
SOk $500|%= O+ $500
HOX $500[FRO#t $300
RO $1,000[FROLE $300
ROM $250[FROF* $300
RO $250[7R O $300
ROZE $250[FR O $300
A O $300[BRO $300
edbrihAeE $100,000{ F O $300
oy e =l LE/ANG $8.000) B O£ $300
MO¥E $1.200|BROt% $300
210 $1,200|5FO%% $300
A OH $1.200(FR O $300
HOTR $1,200[5FOHE $300
A OF5 I $1,200)5F O e $300
FOE $1,200[5FOF $300
= O $1.200{5:OH $10,000
FOI $1,200) R Ok $1,000
BOF5 5 $1,200| 3 & (EE TR L $100
RO $1,200[ FOF $100
O $1,200{FO4 $100
EOH $1.200{EO&K $100
#HOAE $1,200[ O $100
HOZ= $1,200) % O% $300
=0 $1,200(% Ot $300
O $1,200|1220F5 $500
AHOF $1,200]% O# $300
RO $1,200)% OfH $300
wOHk $1,200] 8 O $300
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RO $1,200{% O $300
BROE $1,200) 8 Ottt $300
RO $1,200[EF O $300
FTOZ& $1,200) &= O $300
wOETT $1,200|Z8 O $300
BIOF; $1,200) AR O $6.000
BROBA $1,200|E O $300
BROZE $1,200[#5O%E $100
BROZE $100[#F O $300
FPORE $100[ = Offg $300
ZOFE $1,200{#k O $300
ZOW; $1,200{#k O $300
O $1,200|= Ot $300
SOk $1,200)&=O% $300
HOLF $1,200)&= O $300
RO $100[t5OF5 $300
FOH] $100[EBOLL $300
BROZE $100|% O3 $300
BIOPT $600| O $1,000
#HOT $100[= Ok $150
FO¥E $600[E= O%x $150
BROBRR $300|&£O EEREIZ $600
ROFE $600|EO%x $1,000
FOH $600[HOFEFHD $2,320
O $300[#EOE $100
g Ot $4.000[ZIOF $1,000
FH Otk $100| EOAAD $500
PROZR $1,200|5E O $1,000
BROTE $300]= O35 $500
PROT $100)HEO7 $1,000
O $100[##OHE $500
PROEE $100[#£OJ $1,000
BROBE $100[HO% $6.000
TOH $100[HOF $6.000
BROkE $100[Ek O $5.000
RO $100[#F OBk $6,000
s O $100|MROEAE $480
BROZ $100[BROFE $600
ErOHE $100[#AOIH $50,000
sTO = $100]BRO H 9% $1,200
sTOE $100[ RO $800
BROXE $300[HOE $800
FAOEK $600[ RO $800
ROFEE $600[#FO1T $480
S Ot $1.200)47OH $480
FHOFIE $100[FFOfE $480
OGN $1.200]1#xOt& $480
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PROSE $1.200[220 %= $300
ROE $300[#EO%& $300
PO#HE $300|2E2 O $300
HROE $600[Z£OFE $300
O $300[EO4= $160
FO $300[EOZK $160
MO $1.600|8EO $180
=50 $1,000|8EOE $1,000
O $1.600[EEOFEE $1,000
HOFE $1,800| 52O $600
HOZE $3,000| B O $600
#*OH $15,000{#AO% $600
HOE $2,000| RO $48,000
HOFH $2,000|F O $200
HORE $2,000|&F O %% $6.000
HOMHE $2,000|FBOAE $1,200
BO/E $200[ 52O $500
AOT $2.400) 8k OF] $6,000
AO+ $2.400[5 O™ $1,500
frOF%& $1,000|ELOH $100
SO $500[FOta $100
SO $8.000|EFO % $100
BROTE $1,000|EBOf= $100
O $400[EF O $100
O $2,315 [t O $100
s OIESK $12,000{ IOk $200
BIOZR $200| EO $2,000
O $200|%20O $1,100
FROH $500[FHOE $500
Ok $1.000[FROFx $2,000
TOAIED $1,000)BECOBH $1,000
RO $1,000| £O1E $600
ROk $900[ T Ot $400
=50 $1,000[FEOYE $500
fitt O $1007& O <7 $300
MHOZ= $500 | OF $1,000
BEOR $2,500[#H O#F4F $100
) $1,100)E=0O%E $100
HOE $500[#FOF= $200
H Ok $100[fROF $100
BROF $100[z= O#F $500
X Oy $100|FOH $100
RO $500[50O $200
BROFX $1,200{#8 Ot $200
TOE $100[EEOZ $100
FO4 $100|F O $100
PR O’ $1.200{FRO%k $1,000
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HOE $1,200[#LOH $100
HOE $1,200|F O $300
HOZ% $1,200[# O] $100
OB $100|ARO% $100
TOF $100[AKOHIL $100
JTOx $600[RO5E $100
T O $400[ kO % $100
O $300| £OL $100
A OFE $1,000]#kOF $100
BROFE $500[ RO $100
HOWEIE $100[#k O $100
MO $200[ 52O $100
RO $100[7RO=2 $100
O $500/F O%H $100
10O $200[ & O1H $200
SO $200[ZF O $300
BOZ $100[5R O $100
tRO%K $1,000RO%E $100
+OE $500[t% O} $400
HOHE $100[ RO $400
FOE $300[7RO% $400
RO $100|1Z2O %k $400
RKOF $100[ZZOkE $400
ROF $100[FpOZE $400
RO $100|s OFE $400
WOZ $100[#OF= $400
FOX $100|Z0O= $400
POTF $100[ETOEE $400
WEOFE $100[FEFOHR $400
HOA $100| EOFH $400
RO% $100[FFO* $400
RO $100[BROZL $400
BRO&H $100[BBO $200
g OF $200|BE O $200
IR RS A IR A H] $8.000) B Ol $200
ZIOR $4.800[BBO % $200
FHOrtE $200/ 8 OAZK $200
O $600| A EE P FH 2% A IR /A H] $6,000
BRO & $600[FO= $1,000
ZOlig $500[br O $1.000
BIOF $200| =05+ $100
HOMR $100[E= O $400
ZOT $100)EOINH $1,200
ZOtE $100|2 O $1,000
#O1la $100[ARO#H $3,000
O $100|FE Ot $300
O $100$#O & et $500
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2O $100| EO33 $50
2O $100[EE Ok $10,000
EOHF $100|HOL= $5,000
FZ O $100PTOZE $5,000
PO F $100[3E O $2,000
FOF $100[EEOK $2,000
BIOFEH $200 |15 Ol $200
2OJ= $200|ZFOF $200
21O $200[{TO%% $5,000
ZIOE $200[FRO%E $300
FEOM $200[FRO#h $300
RO $200[BROZ $300
FO $200[BROF* $300
FO& $200[7= OF $300
£0 $500[FR O $300
O $500[BRO I $300
2O $500| O $300
FOM $500[FROJE $300
HOE $500[FROfZ $300
Z O $500[EFOi% $300
HO#E $500F O $300
ZOF% $500[5FO=E $300
HOZE $500[EFO f, $300
#HO $500[5FOF $300
BOE $600[&£ O $2,000
EOR $200[£5OFE $200
s T OM $1,200[E O #S $500
FROY/A $1,200[#HOE $100
ZO¥G $1,200|ZIOF $1.000
O $600[FEOH $500
FOE $200FE O $2,320
BHORHE $2,000{EO#P $1,000
BIO# $200[H O % $300
BOHE $600| O $1,200
BHOFE $2,000|8 O $100,000
BHOA $2,000[#O ke et $1,000
O $1,000({a[ =& $50,000
£0% $500{AT E $50,000
=0% T $100[EBOR $100
w= Ol $400[FOfa $100
2IOF $500|HFOZE $100
gO& $250[E O $100
ROBEE $1,000|EL O $100
EORE $2,500 [ O 5 $100
#O Jg L $500 O $1,000
O $100|BEOIE $100
O $1.000{FROZK $200
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ROZE $1.000|EOFF $200
HOE $100[EOL $200
BRO-F $100[EFOH1 $200
RO $1,000|Z Ot $200
BROS $100|ZF Ot F= $100
O $1.000{FR OB $100
(BRI AR ] $1,680| POt $200
ZO1= $200[E=OL $200
HOHFES $500[E= OKE $200
LOEE $200|BRO 05 $200
FO% $1.000);EO=F52 $1,000
RO $1,000)FEOZ= $200
2O $300[FROFE $200
BROBS $100[=O#h $200
AEOE $500[FIOf% $100
EAOLEES $100[BROZ $100
ZOR $100[#RO $200
BROIE $100[#OE $200
fi OF $100|=OE $100
i OF $1,200[FROEE $200
it OTT $1.200[FROA= $200
it OTT $1.200[FROZE $100
O $1.200{FRO#F $100
BROZR $200[#F O $200
HOFET $200[E O $100
HOL $200[BEOH $1,000
HO $200[ T O% $600
HOE $200[ T Ot $400
EEORBED $1,200[FR O $500
ROk $1,000)7# O T e $300
ROSHE $400 i OF $1,000
SOt $600|H O P $100
RO $1.000[F=O%E $100
BROME $1,000[# O $200
BROZE $200[FROEF $100
BROZE $1,200|=O#F $500
FOHk $10,000[ZFOFF $100
BROFE $1,000150 $200
FPORE $100[#BOHE $200
F O $100[EEOZ $100
BROSE $100|F Ok $100
POt $100[ERO%K $1,000
E=OX $100[ALOH $100
= ORE $100|1FOFE $300
TOE $1,200|#k O $100
PROEE $200{FO3L $100
AEOFE $500[#ROF* $100
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fiE OIE $100|#k O $100
fitt O=L $100[#k O $100
LO= $100[52O¥ $100
O $100[7RO=2 $100
g O $100|FH O%H $100
g OB $100[ & OtH $200
2OZ $100[ZF O $300
FOZ $100[7R O $100
FRO®E $100[ROH $100
s O $100|f OF5ES $1,200
s Offi $100[7& Ol 4& $1,000
sTOfE $100[E O $600
RO $1,000);£O%F $300
TOEE $1,200) B Ot $600
£0 $2.400|Z= Ol $700
ROE $1.200(#O= $1,200
B OF] $1,200(PEOF $1,200
HOL $1,200|BE O $600
O $1,000(PEOF $7,200
2IO& $100[BO T $1,200
BROZZ $100[z2O%& $500
PO $100| FOE $100
TO%% $10,000{EO4= $100
FOME $100|%2 O+ $500
#FORBZR $600[EEOE $60,000
BROTE $1.000[E O $1,000
AHEOE $200[EOFE $1,000
O $200|FH OFF $1,000
AEOH $200[5O= $30,000
=0% T $1,100{EOHE $600
RO $600[BROZ $600
BIOHH $600[=OHF $3,000
FOK $600[BEOECFED) $1,200
2IO%> $600| O $1,200
ZFOHiy $600fH OF= $600
FOE $600[FOF= $20,000
MHO& $600[FRO % $1,200
BROE $1,200{FROEE $500
#HOT $100[FEOF $600
ORI $2,320|8F O 5 $600
O $1,200)1220F5 $300
EEOZFAL $1.200[F=O%< $1,200
JHOH $3,000[=O7% $1,200
Otk $100[m=Of& $1,200
BROH $1,200|FO%z $1,000
PROAL $600[#ORE $1,000
i O4F $1,200[#5ORE $1,000
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FO# $1.200(t5ORE $1,000
#OIE $1.200[EHOR $600
HOR $1,200| O3 $600
SOk $1.200{2 Ol $500
OB $1.200[FHOFx $1,000
HOR $1.200|FH O $600
OB $1,200)BR O $600
RO $1,200) = O $600
#*OFE $1,200|8X O%H $600
#®OF $1,200{ &= O5A $600
#EOL $1,200) Ol $600
FROZ= $1,200[FF O $600
=O%E $1,000{FEOTE $600
HOE $100[fO = $600
O $1,000) B O $600
MO $100[t5OFH $1,200
CAOES $100|BEOE $1,200
SO $400[FZ O1& $500
FHOFIE $100[EEOE $1,200
BO%E $100[BO%x $200
BROE $200| 2 OFES $600
RO $200|F ORE $500
BROE $100[ RO $600
BROE $100|ZF Ot $1,000
= OB $1,000|#EO4F $500
FOM $400/2£0 $700
e Ok $1.200[Z0O%= $700
A OF $1.200[z0% $700
O $500[HEOHT $700
O $500[HO= $700
HOE $200[== 01k $700
HOWS $100[HEO#E $700
FOFk $100[Z=OF% $700
FO#H $100[HEO#E $700
=HOH $600|3O $700
BHOH $1.200) ¥ OE $1,200
FOZ% $1,000[#OEE $600
SO $1.000{&ZOsi& $600
FOEK $1,000)52 O% $500
SO $1,000) & O $600
O $1,000]BEO $6,000
RO $1,000[FEO*F $500
IO $1,200| EOAI#HD $500
ZORE $100[FRO*G $1,500
e Ol $1,200[ & O $600
=R $1,200|5E O $1,000
PO $1,200[&F O $600
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MHORE $1,200|BROZE $600
BOHE-IX $50,000|F OZ= $600
20X $400[BROEH $600
£0% $400 |5t Ot $1,000
SO%HE $1.200[FO= $600
AL O $100[EOFE $1,000
sTOR $1,200{E OtF $1,000
FROH $500[EOFE $1,000
HO=E $100[EO& $100
BOF $1,000{ O $100
RO $1,000{#OF5 $600
MHOE $1,500) R O%E $600
POt $1,500) B O $600
RO $1.000| RO $600
BROBS $100|AROHi $600
BOE $2,000{ A& O%Hi $600
PRO= $10,000{BRO $6,000
#O $1,200[=O% $600
EROZE $200[BBOZFE $600
RO $200[FEEOE $1,200
RO $200[EEOF $1,200
#*OH $4,100 O $1,200
BRO*% $100[EEOE $1,200
MO $100[EEOE $1,200
HO{ $5.000 O $1,200
LOZE $5.000EEO & $1,200
BO $1.000/EEO & $1,200
O $1.200/ O $1,200
O $20[FEEOff $1,200
BO% $500| EOA 44 $1,200
BEOE $500{ = OFktE $1,200
FIOEK $200|E=O%E $1,200
TOAIED $500[z=0OH $1,200
=0 $500|E=OH $1,200
RO $250[Ex O $1,200
—0O% T $1,200{ = Ol $1,200
B O $500[FEO $1,200
O $3.000[ZNOEH $1,200
) $1.100[z=0OH $6,000
HOE $500|#mO% $1,200
ROHE $250|47 % $1,200
RO $250 O $1,200
ROZE $250[fR OF= $1,200
BROB $100[FOHF $1,200
BROB $100[H: Ot $1,200
BROB $100[#O#% $1,200
BOE $100,000{ T OtH $600
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HO%# $25.,000|FRO %% $1,200
BROSE $100|ZEOR $2,400
JTOx $100|E= O $1,200
TOE $100|E=OHi $1,200
JTOE $100|f2 O ik $1,200
JTOE $100|PROFE $1,200
B OH $100[FRO#h $1,200
10= $100[= O35 $500
TORE $100[f2OK $1,200
T O## $100]+ORAE $500
02 $100[#EOIL $1,200
w1 O $1,200[#5O%E $100
= O $1.200[5FO $6,000
MO $1,200| s Ok $700
RO T $300[ZF Ot $1,200
SO $20,000|F O $1,200
MO $25,000)5=OF $1,200
A OF $1.000[7ROZE $1,200
BROFE $500[HFEO H $600
HOWEE $100[21OF= $1,200
MO $200[FE O $600
RO $100|fR ORE $600
O $500]BRO TAE $600
70 $200[£O% $500
SO $200[=OE $500
BOZ $100[5OE $500
ROk $1,000) POk $500
HOHE $100[FR O $1,000
R O i $5.000| 7 O $600
RO $5.000) = Ok $600
RO $425 | O $600
FOBE $300[#OH $600
PROR] $100[EH O $3,000
RKOF $100|3= O $600
ROF $100[#F O $600
RO $100[#FO= $600
WOZ $100[#E O $600
TOX $100[#OHE $600
POTF $100[=O T $600
PO $100[=O5A $600
HOA $100[E= O $600
FO $100| EOW $600
RO $100[=OZ $600
BRO&H $100[EROFP $600
g O $200[BRO & $600
MO $2,000{ZIO & $600
ROE $5.000F2OF. $1,200
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HROH $5,000|F2 O X $1,200
RO $1.000/F2OH $1,200
BROZ $1,000|1 EOH $1,200
O $1.000[FFOE $1,200
BROZ $1,000| O $1,200
sT ORI $1,000)EO4F $1,200
SHOH $1,000{%=O $1,100
FIROKIA $1.000[FHOE $500
sTORE $1,000) &= OFE $200
O $50,000|FFO%& $500
E=lon] $20,000|FO $500
JilESE $25,000{52OH $600
B/ $25,000 EEO &l $1,200
EEOM $200 O $500
HOH $200[ 5= O $1,200
#HOH $500[72 O $600
1 O%K $200[ 2O H $5,000
1 O%K $300[FO%d $100
RO $2,000| EOFF $2,000
TOE $100| =05+ $6,000
FO4 $100|FOF $5,000
=OT $500[/LO%E $1,200
=B fiESC an $20,000{ O] $1,200
/et $3,222,320 /NET $2,551,113

=1 $5,773,433




